E200=EHBFRIs

1 B8R L&
FEDOKRA+

AETF

BEEN

@D 1 2RIZRE—FAHY . RELFE-HEHOEFEERE TE, RIMD
FEEEMICMbhbnEMESH
@ BEN—EFREMNEECT. MIFEEZLTEREIRIENDIEF

NLNDMESH

@ 4 5RNERERMBIZHFOLEFEZERETSHENTESDN
@ TRICRE—REREMZEL. M DOSAMRNA—KNZBEZEOEFE
HRATEINGEETUH—TOHELEZ TETLND)

BEDEBF—LRXEEBIEL R

B} F—L% X | 2IX | 3K | 4K | 65X | 6K | 7K TXE 2L EDE(FY)
1 = 37 17 4 5 4 4 1 Eir &g 6
2 = 13 15 4 2 3 3 1 S FK 35
3 2 [ 5 1 1 1 1 1 1 JIA sk 51
4 E & 4 6 5 5 2 2 1 INE RBE 24
5 IR 13 7 2 4 1 1 1 Al B 57
6 3 3 2 1 1 1 1 1 Ee B 53
7 T | 2 3 4 1 1 1 1 KE G 50
8 18 [ 3 3 2 2 1 1 1 EH BE#H 100
9 E 5 2 2 5 5 1 1 1 w7 FE 5
10 £ % 1 1 3 3 2 2 1 LE#—ER 2
11 & % 10 8 2 2 1 1 1 e 18R 48
12 EE 9 2 1 1 1 1 1 Jear B 93
13 E ¥ 3 2 1 1 1 1 1 w1 FE 13
14 £ % 3 1 4 2 1 1 1 LE#8—ER 80
15 £ 5 2 2 13 4 4 4 1 mE By 3
16 N 1 2 7 1 2 2 1 FEH 58 31
17 " E 1 1 7 4 7 5 1 iE @I 22
18 EE 1 1 7 4 7 5 1 Jear  ER 5
19 EH 14 6 1 3 3 3 1 X8 £& 35
20 B E 6 1 2 1 1 1 1 AREF FX 24
21 E 14 8 2 1 1 1 1 A B 31
22 7 2 7 4 1 1 2 1 LB —ER 19
23 B E 10 6 6 2 5 4 1 ERE IZKN 46
24 B B 4 5 7 3 1 2 1 HE B 35
25 b4 10 4 15 8 3 1 i A MR 17
28 E % 2 3 4 1 1 1 1 L EFIE—EAR 25
s BEBREDHEENMREE. SRR THATNY TGS, BEFERIL8%
SIS BRThY T THNIETr =i a3 LM2GEDEBLREN
- RAZTETUA—TOHEREL120E] (FEE48%)
+ 10 LI TOIRIEZ5E] (R IF10EKE D270 %)
BERENSRTHDE 2B5EKRRIED1—XDUENRENOERL—REER. 5F— LD KRR EEH
XEFHt2RBE T8 DI AL
25[0] X | 2X | 3% X 5X X | /X | Ba Toh—FEF
20204 [[:tiod X XFH XFH XFH XFH XFH [[:tiod #E EC8%
i 10 3 27 2 4 i 2 1 N 37.18
EE 15 1 15 13 9 3 4 2 T A 37:27
| BE 11 10 12 1 7 24 3 3 B WY, 37:20
EE 8 2 4 19 13 12 17 4 HFE Z— 38:02
4[] 7 8 13 29 22 5 5 5 FiE =2 37:33
R 5 3 17 16 5 34 18 6 WAy RE 38:03
BEA 4 30 25 17 8 9 9 7 FRUEE B 37:46
== 26 8 7 11 14 42 8 8 BE %Y 37:38
=71 1 33 23 5 6 31 12 9 il HmA 37:55
FE 16 11 26 32 3 15 18 10 A 38:03
28I KREMNLRTHDE 28K EERL—REEM. BBL-EEF— LN KSEHREEH
XEF+3IXE T4 DH AL -
28[a] X 2X 3X 41X 51X [(=3 X | BE T O —EF
20234 NE {5z X[ X X X X X [t mEELR D8R
=5 2 23 8 1 1 3 12 1 TR — 38: 11
| BE 7 10 14 2 3 5 2 2 UAR B 37:36
RE 8 11 11 3 6 8 7 3 U552 X 37:50
FIE 10 6 5 3 4 10 23 4 HE S5 38:33
G| 4 21 10 6 4 16 15 5 WA X 38:17
AR 5 5 4 6 17 33 3 6 7 A 37:38
L& 23 4 7 10 7 4 4 7 HE BEf 37:42
T EE 1 1 16 23 2 5 33 8 BEA RiE 38:57
=851 22 13 2 8 27 10 25 9 =B B 38:38
| & 26 2 26 14 10 16 16 10 B}/ EA 38:18

weh

FHIA (BBESST—L)

R F& EE ELU KR

FHEB(ERAEMNMAZSTF—L) ERE =B X, RE EE LS

KRDEF, MMRF=a—aV—ERETHRE, LEEHEDHFIZLS,
ERERMBITELTCWSERE, TE, EE, BILUARIEEHILES,
CDAF—LIZEBREEE>TUOVEVWERE (KD R) DEFNEBOSLDITEH,
LEIFERHUI—REELEVD, ERENRELTIND, FBIREIZTHEEBEN IR REZEDEYIZEAF,
WmIAA BR-BAR BEC(FEEN)

18100 A fBF-ma REEEHEG), FN-FL HFROMNESH)
SIER SL.EfE R (FHR)IK)

BEE
(2
WF-5 B

19BN S EBPRABIfEAR) 2855k wE(h

B.EiE EE(EBIS)

REE )

BEAILER A:EBE FAGUFRKN) H:2H R(EHFLES)
BEER ML TF MR(REFEHE) &.F5F SREWLES)

VEME R AFAELC F: XA FKXFi=)



